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Questions
Profit after selling commodity for Rs.524 is the same as loss after selling is for Rs. 452. The

cost price of the commodity is:

If the sum of three consecutive odd natural number is 57. the first number is:

A trader marks his goods at 50% above the cost price but allows a discount of 20% on the
market price. The profit percent is?

The audit population of village is 6400, if 30% of the population is literate, what is the
number of illiterate?

Average weight of 30 students of a class is 40kg. If of teacher be included the average
increase by 1kg. What is the weight of the teacher?

If 9 men or 15 women can do a place of work in 25 days, the 39 men and d10 women will
complete the same works in?

A sum of money at simple interest double in 10 years. In how many years will it amount to 4
time it self?

The sum of two number is 40 and their difference is 4. The ratio of the numbers is

The ratio of the numbers of the boys and girls of a school with 504 students is 13:11, What
will be the new ratio if 12 more girls are admitted?

A and B have monthly income in the ratio 5:6 and monthly expenditures in the ratio 3:4 if
they save Rs. 1800 and Rs.1600 respectively, find the monthly income of B.

A

DOWP» DOWr DOWP UOWP UOmP DOWr UO®mP» U0Wr DOWr 0U0m>

nswers Choice

Rs.488&nbsp; <br>
Rs. 485<br>
Rs.480 <br>
Rs. 500<br>

17
18
27
19

20
25
15
10

4920
3720
4480
3280

71kg <br>
81kg <br>
61kg <br>
51kg <br>

4 days <br>
6 days <br>
5 days <br>
7 days <br>

25 years <br>
&nbsp;35 years <br>
&nbsp;30 years <br>
75 years <br>

21:19
22:9
11:9
11:18

91:81
81:91
9:10
10:9

Rs. 3400<br>

. Rs. 2700<br>

. Rs. 1720 <br>
. Rs.7200



